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DEPARTMENTAL EXAMINATIONS

SURVEY DEPARTMENTAL TEST — DEPUTY INSPECTOR OF SURVEY
' : AND LAND RECORDS TEST — PAPER 1

(Without Books)

Maximum Time : 2.30 hours _ Maximum Marks : 100

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qarer@m cuens eflemsgmer

Read the following instructions carefully before beginning to answer the questions.
elilanmés e el wallés Qsm_kiGh apary EnasaT_ oiflelmysmar SaETLONE Uig &&6Lb.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.
Qps dlenssdler e urdaman urismsseaan, Gwastsnu Csmeliliger Qe
Lmellailed QuTTSenSe(EhLD <L _kiELD.

This booklet should not be opened till the Invigilator gives a signal to open it. As

soon as the signal is received you should open the booklet and then proceed to
answer the questions.

Qbs elamsdstglioa sansrafliurerier  oawd QupesHE penei  Hnssant sy
samsnenfluunert eflemsQsrEldamar ApLLsHE Siaind alsse eSlenmgEgm@gLilaer Snbhe
eflenweflés QgmLigemb.

1. This question booklet contains 100 number of objective type questions. Prior to attempting to
answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the
question paper, it shall be reported to the Invigilator immediately, within first
10 minutes after which no request will be entertained.

Qauellenggrar 100 Qaneargdl eums ofamssmar Qsrarig. efaranmiusisd odenwelés
Qsmm@b e, elamggrafler eraver eflamssesd @b QubpETaTaTeUT cTaTIESW|D, gCsab flev
ussmser / eflemaser FHL Ll AUl HaTarareur getuesub sflurisgsd Gamerereyb.
silamggraiier gGsaib Gop @umudea damssrmeary Qupp Ger UGS Bl misEnéE@er e
sansnafliureriiLd Ggfelss CauamBn. wsnE Gng Csfadsstu®n Camfsmaser THD gHMS

@a;rrshmuul_mm'_l_r@,

2. Answers all questions. All questions carry equal marks. :
SAaigg damssEpsgh dmwaiés Caugm@in. dmagss camssend swwren wHIGOUGTSET
Qamenr_enal. ;
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Candidate must write his Register Number in the space provided on the top right side of this
booklet alone. Do not write anything else on the Question Booklet. _
eflemenriiugmyler uHQeuameen @eucdamssrafen Cuod eueg) LIS&ESSI g mbsen @@&EQL‘@G}TW
QL8 erps Gouar(Hid. edlamggraficr Gau) STEGUYLD ET(LPSEH dnl g

The sheet before the last page of the question booklet shall be used for any rough work.
dlemggraflen sean_d LassdiE e LsssHa rough work ar(pdl LTTEs o LGWINHS86 QaTararayb.

(a) Each question comprises of four responses i.6. (A), (B), (C) and (D). Candidate shall select
only one correct response. In case, if the candidate feels that there are more than one
correct response, shade the response which he considers is the best.

(b) In any case, a candidate shall choose only one response for each question.

(¢) If more than one answer is shaded for a question, the answer will be treated as
wrong and no mark will be given for that question.

(d) The total marks will depend on the total number of correct responses marked in the
OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken

into account for awarding mark) _

(a) g@eudeurm efemmeliEn (A), (B), (C), (D) ean prenE efenser AerRésuul_Herearg.
eflammaRTLILIS T Sjeum e gCsaid @ efluner e amwg Coirey Qe Gouamr(Hib. PAN&HS
Cupule sflwrer eleanser om odammedpe Quuusts smblame, Seupble ereuailen Bl&é
sflureng eren sma ddisGart, Bjcuelenaw Blipell B sriL Ceuar(@id.

()  ereaaurdlmudan, e elamelne Cr g eflenanwig sren GsihOs0H&Es Couam(ib.

© en damdpe panssg Coiul L el Lisald eflenL wellgasliu’ g mbsred icuefenL
DTS EMHSULLE, SeueieanmeilpE LHUGueT euphmsiuLbm L rg.

(d) OMR eflews srafler @hasiiu L eflurer feLseament Qurmss), Quwrgs wHLQueTser
aupmisLILBD (e dlameilnE e e L sHd (ML) Hipal L oflan il @G L&lL1G Listor
QULPmIE SanT&Sld.oT(NEGIE Qararar iL@ib).

Do not mark the answers in the Question Booklet.
eilamgsrafld eflen_samard @HlIGL& sal_mg).

Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet.

eilemamriiugmy, eflemsgnefen arps @ ugsgmsub, fesCaur wag AfssCur sl rg. Csoirea
B Gugd Gurg, slemgsrmer Csitay sal_smged H GeueiGu a(Hss Qsoe sigind e wirg.
Csirey b DenenGr efamgsrenar erssF Qado gL Heur.

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide.

Copsar.  siflajmrsalidy gGsed Bpriu@EGuureamesd Csiauramermuid TREGDL  se_amer [
BL Al &E®&EE 2 crerta Cril[HLD.

In case of doubt, English version is the final. : )
efleamésaiia sbCaablmudar, oyido aigefld Qar@asiiu Herer eleamisCer Omdwuransg,.
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Write the abbreviation of RTCM?

(A) Radio tactical commission for maritime service
Radio technical commission for maritime service

(C) Radar technology commission for maritime service

(D) Radar technique commission for maritime

RTCM efifleurésid ereiran?

(A)  GrgGur GLsyse siflagen (L6 smibs LientsEhssTs )
(B) sLé smipg uaflaepssrer CrgCwr Aasmfion U slager
©C) sLa sripg uaflsenéaTer primt Azmfam U gulager
(D)  sLe st uanfls@psaTen Gy miL U sllager

Which of the following is “UTM ZONE’ for Tamilnadu?

0 43and44P (B) 44and45P

(C) 42and 43P (D) 42and 45P
&0 g Harer “UTM ZONE” Qéneumeuaneunbla ergi?

«(A) 43 Hmib 44 P (B) 44 wpmyib 45 P
C) 42wpmb43P (D) 42 wpmb 45 P

Write the abbreviations of “GCP”?

w Ground control point (B) Grind control point
(C) Grand control point (D) Grace control point
GCP effleursgsid erenan?
Q)  Ayeyar’ sLEUUTLE yeTaf - B) Heorar sL_BUur () yeref

(C) Agrewl sC_HUurl_H yeref ' D) &Crev sL_uur_@® yeraf

In Topcon total station which software was used for download?

7 Top Survey (B) Skipro
(C) GP Survey (D) Pops
Topcon total station -é ugleflipssd AeLeugnaTs LwerBHLD Gwerdummer?
(A LrasrGeu (B ewduChmr
(Cy a3l FTCGeu D) - umdev
3 - 088/DD/18
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Write the abbreviation of “GIS”?

(A)  Geometric information system
(C)  Geodetic information system
“GIS” eremusen efifleunéssid eraren?

Q)  HCwr Gwl s gseud oLy

C) HCwMgs 86160 oL

Write the abbreviation of “UTM”?
(A) Universall trijunction mercarder
(C)  Universal tribal mercarder
“UTM” erenugen 6l fleundsid areen?
A)  welleuirse Lenpmmisen QuorgmTi

(C) wefleurse Lenyue QuirsriLm

Write the abbreviation of “GDOP”?

(A)  Geographical dilution of precision
(C)  Great dilution of precision
“GDOP” eremmuger eflfleurésid eremen? |

(A) QGmnaﬂmlﬁla;éu e gen Gyéaar
(C) ACrl en_evyzar Srélgen

Write the abbreviation of “WGS 1984”7
(A)  World Geographic System

(C) Wind Geographic System

“WGS 19847 erenuigen eflfleungsid eraren?
B). CuiropQeLrEymIE Audid

©)  oaa® HCwurdymas fAevib

088/DD/18

(D)

®)
(D)

D)

(B)

(€0

D)

(B)
(D)

(D)

®)
(D)

Geographic information system

Ground information system | J
DCwr fym9s sseua ooy

flye e gseud ey

Universal transverse mercarder
Universal trible mercarder
wafleufraed g rremenGeuren QuomamiL it
wefleured LMLier Qg
Geometric dilution of precision
Grave dilution of precision
SICwWrGwf& enLdwser Grdlaen
&Créu enLavysen Srlsen

World Geodetic System

Wild Geographic System

Caure(® glCwmqq.6 SlevLtb

enaued(H BIGwrdymils Hevr_tb



10.

11.

12.

Write the meaning of “Geoid” is?

& Equi potential surface of earth’s gravity field

.(B) Semi potential surface of earth’s gravity field

(C)  Rough potential surface of earth’s gravity field

(D)  Right potential surface of earth’s gravity field

“Bumi B -eremuger GUTHET ereven?

&) yeiluler iy eflena Levgdlar maw, QurLmeredlwue Copuriiy
(B)  yelluler miri eflens YasHer Gal G L memardliue Gupurtiy
©)  yelulen iy eflevs Leogdlen rriliy @uim_memedluied Guomuiriiy
(D)  yellulen iy eflens Legdlen euawg Qum_menedluic Gl

At present records are prepared using the following survey method?
(A)  Simple triangulation system JBT diagonal and offset system
(C)  Punganoor system (D) ray’s system

sHeLWID  peuamEiseT  Ueaeumeuaupmer ey  Hloo  Sareneu  apewperws  LweUHSH
swrflasiu@Eeamer?

(A)  angryent ap&Garent wpenm (B)  epeme el ohmitd 2y i@&E " wpenm
(C)  yrsgnt e D) Gy aperp

Write the abbreviation of RTK surveying?

(A)  Read Time Kinematic surveying - 87 Real Time Kinematic surveying
(C) Right Time Kinematic Surveying (D) Reflect Time Surveying

RTK srCauulen aflfleunssid ‘

@) F b osa@nl s siGaui (B)  Mwe ei> esen@uol g siGoudi

(C) eyl evLib enserGloligé sGeaiuln (D) QruGesa. e tb srGleuuln

When observe GPS machine the cursor of the screen represent GIO what does it mean?
(A) Represent no of GPS satellite (B) Represent no of PSLV satellite
& Represent no of glossnass satellite (D) Represent no of Galileo satellite

GPS Quipdlrsdlear sieveny uwemu@sgin Curg Hegule GIO erer Cgrandlamad sigear Qummer
GTGoTEN ? ' :

(A)  GPS s geoa[Hsaien aranaismsmu @Nédns

(B) PSLV QeqysegCauniraaflen erawranfldamsanut @dlasns
(C)  Glossnass an_igenel_[Haefler eramranflaamaamu @HssHng
D)  sSCLT sm’_ g eveBaaflern eramafsmamu @hédng

5 088/DD/18
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13.  When we setup “primary control point” what is the observation time for more than 80 k.m?

(A) 12 hours (B) 4 to 6 hours

J#5 72 hours B (D). 2 hours ]
<oy s Grme umidlem’ awéeh Aurupg 80 £.65 oifls ssdnE e drer observation time
GTEUGLETEY ?
(A) 12 befiCry (B) 4 qpsed 6 wenfl Cryid
(C) 72 wenfl Cryd (D) 2 wenfl Cprid

14.  Which is the “elevation of mask” angle we set during gps process?

JoO 15 (B) 20
€ 25 (D) 30
GPS process-enn Qun(ps;) eredlGouages <4l mevd CaTenTid eTeucuemay?
4 15 (B) 20

© 25 i (D) 30

15. Write the abbreviation of “SA”?

(A)  Severe availability 4B Secure availability

(C) Simple availability (D) Selective availability
“SA” erenuigar ooy T&&LD GTebren?

A)  Aewir sienasaGaf B) QséwT Sieaabali iy
(C)  Aber semeuaifafliiiy (D) Qsasbiye meuaafliiy

16. Write the abbreviation of “RMS”.

J#  Root Mean Square (B) Reverse Mean Square
(C) Reverve Mean Square (D) Review Mean Square
“SA” eretugen elfMleuTdsid eremean?

(&) el Ber evQamwurr B)  Meuiraiv et evQamut
(C) Meurreu e ev@amwir D) MeSeu.Bev cv@amusr

17.  In which year the satellite for GPS purpose was started to launch?

(A) 1972 ‘ . B 1973
(C) 1974 (D) 1975
“GPS” uwenuim’ g hars Qewpeas Caner ey AETLRISLIULL aUHLLD 68 ?
(A) 1972 . (B) 1973
(C) 1974 (D) 1975

088/DD/18 6



18.  The following “symbol” in village map denotes.

AN

@)  Dbijunction _ (B) khandam
)  tri- junction (D) field stone
Wemeu (b SenLwimar Senenid, Ay cueniULSEd Tanss @ Hlsdng?
(A)  eu-grisar (B) sewr_id

©)  @p&snduy . (D) B jeareneu s

19.  Write the abbreviation of “IRSS?
M International Remote Sensing System
(B) Indian Remote Sensing System
(C) Indiana Remote Sensing System
(D) Indonasia Remote Sensing System
“IRSS” ereémuigen eflfleungsid eremen?
A) Qen_iGCrageare MG Ceerél i fev b
B) Qewrgqwer NGwr . Qeardli Hevb
©C) @emgwimenm AGom’ Qeeandm SevLib
D)  @sCsCarflwr AGLT. Qeendin HevL_ib

20.  The total Station instrument used for
J#4” Measure angle & distance (B) to measure leveling
(C) to measure distance only (D) to measure angle only
CLml e avGLagen smell argh @ LweaTuRHps)?
(A)  Garewrd HMID FITSNS 26TES B) wlidu@sgss sass
(C)  srsms LLHD SeTEs (D) Csreargens w1 (Db Sjerés

21.  WGS-84 values are given by which country satellite?

(A) India : (B) Canada
4o USA - (D) Russia
WGS-84 wéluyser arpg mrligen Qawhenss Caner euipii@Ens ?
A)  @pdwr B) senr
C) =Qwlssr (D)  pegwr
7 088/DD/18
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22.

23.

24.

25.

Write the abbreviation of “CF” card

(A) clear flash card (B) cloud flash card
425  compact flash card (D) creative flash card ®
CF eremugen aflfloumdaid
(A)  daflwr Lermey i B) éSG‘ETQ.]IL Germeia s
(C)  smbunsl Qerreag s (D) &fMGwgey Garmey smi(H

While observing GPS cursor display the symbol “GP” it does mean
A&7 no. of GPS satellite being traced
(B)  no. of Glossnass satellite received
(C)  no. of Galileo satellite being traced
(D)  no. of IRSS satellite received
GPS smellenw vweau@sgb Qunps Cursor yeng GP eran sramigsmed siger Qummer
(A) e wrend sreruul L GPS Qewunass Carearsatiern eramentl&ans
(B) QupuulL fermevpren QFwpanss Caneraaflen erermenisms
(©)  eewmrenid srewrliul L se0laCwr QewpensCarersatien eramentlEans

(D)  Qumpuul L IRSS Qewpens Carer erameantlEans

In GPS instrument the cursor will show the message “kinematic start” survey which key
press for start :

4 F-1 (B) F-2

(C) F-3 P F-4 |

GPS smellufern sievi g ang “kinematic start survey” erenp Qsiiflenws sramdssre erps Key-enw
Start Qs 2i(ps5s Ceuar(Hid?

@A F-1 (B) F-2

(©) F-3 - (D) F-4

In GPS instrument the cursor will show the message “kinematic” end survey which key to
press for end

@) F-1 JB F2

(C) F-3 (D) F-4 _
GPS smellser sienit ez “kinematic end survey” eramp Qewiflenw sramissre apgs Key-ew
Wye & Qara( eur 2i(pss Ceuam(Hib?

A) F1 (B) F-2

(C) F-3 D) F-4

088/DD/18 : 8



26.

27.

28.

29.

The minimum leveling level in Topcon Total station in X and Y axis is

A) X=20,Y=10 B X=10;Y=10
@O X=0Y=0 D) X=1;Y=1
Lmiiaien GLml L6 evGLager smedlufier X wpmd Y widfle @eonbsuls level ar oierey eraieuaray?
(A) X=20Y=10 B) X=10:Y=10
©€) X=0;Y=0 D) X=1;Y=1

The addition of laser plummet in Total station instrument used for
(A)  toleveling the instrument onto the measurement point
(B)  toleveling the instrument onto the instrument point
‘(2‘)' to center the instrument on to the measurement point
(D)  to observe the instrument in night vision
CLm_a evCLagen smeiluiicr Caverm Gerbiol et GsiliLg) araen LT i HaTs?
@)  @ereyl yeraflaGapu smelaw swaLSS
B)  smeluler LerallECapL smedanw @LWUUGHES
(©) eyl yerafls Capu smellenw emwwliL@és
(D)  @refayb smellerw LwenLBSS observe Qe

In the Total station instrument in fine mode what is the normal distance measuring is

(A) 0.1mmorlmm BT 0.2 mm or 2 mm

(C) 0.0 mmor 0.1 mm . (D) 0.02 mm or 0.2 mm
Find mode -6 2_erer GLLdb evGLagen smedullar srgmyan girsslen sieray
(A) 0.1 mmor1mm (B) 0.2 mm or 2 mm

() 0.01 mmor 0.1 mm (D) 0.02 mmor 0.2 mm

In forming the “Primary control point” the accuracy level requirement is

(A)  1:25000 <BY” 1:1,00,000
(C)  1:10000 (D) 1:1000
U Flena sLHUTLH yetafluie gieallwinmer Qeaigidse Camauwinarng og)?
(A)  1:25000 (B) 1:1,00,000
(C)  1:10000 (D) 1:1000
9 " 088/DD/18
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30.

31.

32.

33.

Today’s modern survey the instrument used to survey village main circuit is
JA  electronic total station (B) everest theodolite

(C) transit theodolite (D) prismatic campass

share peiar Hlesarencuudich Symgdler main circuit-g SiaTES Lwel B s(medl

(A) eresigrells GLmLdeGLgem B) eeulyev’ FCwm_enel

O yryrewedl HCwimLeneol (D)  Yfevwmgs sTbLE

The size of the “A” Stone is

W 90 x 22.5 x 22.5 cm (B) 90x15x 15 cm
(C) 60x25x25cm (D) 60x15x 15cm
‘A’ svedlar amey

(A) 90x225x225cm B) 90x15x 15 cm
(C) 60x25x25cm (D) 60x15x 15cm

Write the abbreviation of “CPU”

(A) central primary unit (B) central principal unit

(C)  central product unit «#) central processing unit
‘CPU’ aranugen eflfleunéaid

(A)  Qearge Genyof wefll (B) Qsen_ge Gfendluc wefl
(C) GQearige Qymdsi wesfll (D) Geer g Qrreeiin wefl

Write the abbreviation of “IUGG”

«#J International Unit of Geodesy and Geophysics
(B) International unit of geography and geophysics
(C) International unit of Gemmology and Geophysics
(D) International union of geodesy and geophysics
TUGG erenmuigan elfeunésid |
A  Hur@red wpmib GCwr Aueardsd #reuCss 2jeaey
B) HCwrdlymd wHHD @Gu_lrr Queraid &ﬁm@g& <3|6T6Y
(€)  Ggwrag wpgb GGur Querdsib siaCss 2 era,
D) HCwred HCwr Querdaid sTeuCse el

088/DD/18 10



34.

35.

36.

37.

38.

Write the abbreviation of “NAVSTAR”
<« navigation satellite timing and ranging gps

.(B) naval satellite timing and ranging gps

(C)  nasal satellite timing and ranging gps

(D)  nadal satellite timing and ranging gps
“NAVSTAR” erenmugen e fleunéso

(A)  CpeliiGsagen sn’igemal e ibld wpmib Crersdlt GPS
(B)  preue emigenel enL 18l whmyb Gremadli GPS

(C) prefie smigemal enL ik whmib Crenedii GPS

(D)  pre srligenel e 18 wpmib Crergdis GPS

Write the abbreviation of “RDM”

(A) renewal distance measurement (B) review distance measurement
(C) repeat distance measurement JB" remote distance measurement
“RDM” erenuigen el fleurssin

(A)  Mefeud gy sierey (B) Meflwy, sy ojeray

(©)  ASL gy seray D) MACwrl gy sierey

The Bubble centered using the following adjustment

M leveling screws (B) stylus pen
(C) handle fixing screws (D) operation keys
&S (Bubble) g ewowiL@ssieus0@ erhs sNQsigmea LwelHés Coueam@ib
A) Qeeudi §meser . (B) dverLeev Guenr
(C)  Camariga ol 9&6Im £(m@EseT D)  uCrager &

In Topeon Total Station the angular accuracy is

(A) 0 second ,GBT' 1 second

(C)  2second (D) ten second
Lrisen GLmie evGLsan smeilufer Camerr gidveallu gananio ereucuarey?
(A) 0 Qesesr (B) 10ssen

(C) 2 Qgsear D)  uss Ceser

Write the abbreviation of “ROBOTIC”
A Robotic operated total station (B) Remote organized total station

(C) Revised organized total station (D) Remote original total station
“ROBOTIC” eremuger elflourés

A)  CprCumgd uCrlL @ Cumiéd evGrsar (B) MACLIL gy ismarevd CLm e evGLaen

©)  MNeveuav® Tsmanav® CLr_e svCLger (D) MACLIL pligard CLrie svCLaen

11 088/DD/18
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39. The constellation of GPS is

(A) app 36000 k.m (B) app 30000 k.m
M app 20000 k.m ; (D) app 30200 k.m ®
GPS-an plss8lys Hpen Siepwpbaidrers)
(A) app 36000 k.m (B) app 30000 k.m
(C) -~ app 20000 k.m (D) app 30200 k.m

40. While selecting the station in modern survey the point must be in

(A)

(B)
(©)

station with high tension power line will be selected
station with radio signal transmitter will be selected

station with river bed will be selected

W since intervisibility between the station is not required the station with easier

approach should be selected

pelar Bl Serenauuier svCLagenseaner Gsfley Gy Curg point Csiey yarg vy BQMmss

CouaT(HLn?

.(A) en@nGlL_eieen Lisumenees 2 erer auGLagenm Gsfey Qenuiu@ib

B)  CrgCur efldam ey g granavil L Me o érer evGLagen Asfley Asliwtiu@in

©)  Hm uPaauar vClLeaner Qsfley GawwtiL@D .

(D)  wCLesansEnsE QL Cu uTTss smigu gamwawu 2w CLagar CsmeuliuLng,

FOULOTE DHHE Faly W evCLagean Ggfley Gewwtiu@n

41. While using GPS instrument which _of the following reference system used by us?
J&T  World Geodetic System-84

(B)
(©)
(D)

Everest ellipsoid
selective availability

anti-spooping

GPS - smelilenw LwaTuRSgID Gumg Bbwme uweru(hHdslu @b reference system erg?

(A)
B)
(©)
(D)

088/DD/18

WGS-84
eTau@pen L erededlienmi(®
Oeadigeu aneueifell g

ST lg -6 L. -19% (anti-spooping)
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42.

43.

44.

45.

In Topographical surveying with GPS the survey of India used the precise technique is

) used in static relative mode by using two or more receivers observing simultaneously

. at different location .

(B) used selective availability methods

(C)  used anti -spotting

(D) used aerial survey

GPS smellamars Ganam® soefeuy bl Siarmania &iCal < @nHwumeured UweaUhSSUUGHD

Has eflwrer Agmldmi b erg?

(A) Static relative aumsaw LwaTLRSS QM SDag 2sHE Coarar Mfursmer Caram®
vesruul L @ kiseafle @Gy Crrsdld oergsa

(B) Qswdigen siemeuaGeafli iy (panmaer

©) emng-avGumgil (pem

D) aumeanaufl flosiemena (pepm

In formation of Tertiary control point the observation time is

(A) 24 hours (B) 2 to 4 hours

(C)  one hours W27 30 minutes

Tertiary control point-g 2 (peuré@ Gurg observation srew

(A) 24 wenfl Crybd B) 2 wenfl s 4 wanfl Crybd
(C) s wenil Gryid (D) 30 bl mager

In reflecteriess mode Total station using

(A) gamma rays (B) god’s particle

(C) X-ray J#) red laser
Wrduadluuner @oorg cuams CLm_c dvCLagen smefl creng LiweLRS5EDE?
(A)  smor sdiser (B) god’s particle

(C) X-Grp D) Heuiy Cevarm

Using Prism whether the “Prism constant” is essential

JA” Yes (B) No

(C) Partially yes (D) None of those
Gflevd vweTu@gIL Cung) 19fledib sranavL_am’” jeudlwiom?
A) o B) Geeoa
©) uedHueare) b (D) Cunleararar gge|bldema
13 ‘ 088/DD/18
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46.

47.

48.

49.

Write the abbreviation of “LCD"

(A)  Lipid Crystal Display (B) Liquid Crystal Display
(C)  Liquid Crystal Dilspose WY Liquid Clear Display
“LCD” erenugen elMeunssin

(A) AL Afcve yevGGer (B)  dlaw Adlevd g e GGar
(©C)  dlaw, Hfeve yavGuray (D)  edaw Heflwir gevi9Cer

In Total station how many control panel are there

@ 1 B 2

© 3 D) 4
GLré evGLagear smeiluile ergemen s HLiun® Panel o érerg)?
@A 1 ®) 2

€ 3 D) 4

In Total Station the following battery was not used

(A)  nickel'metal hydride (Nimh) (B) Nickel cadmium (Nicad)
(C)  lithium-ion batteries @’ Everedy batteries
CLm_a avGLager smeflufle Wemaumid erps CuL LA LwaLESs0ILHuHD®?
(A)  flsse Qo eman_eny® (Nimh) (B) Hése sm_lwib (Nicad)
€)  &gHwid e GuiL_fev D) ereuGmg Cui_L feiv

Write the abbreviation of “PCMCIA”

«#)  personal computer memory card international association
(B) private committee memory card international association
(C) . personal committee memory card international association
(D)  personal computer membrane card international association
“PCMCIA” eramugen effleurnésid
(A)  uisae sy LT Quwdl 1@ Gen iCrageand <GavralGuager
B)  QerCeau &0 1y Guwd sri@ Gen_TCpagyeare =iCavredGuiager
(C)  ursand 501 1q Quwl s @emn_rCrageane <iCeavmelGuagen

(D)  ufsare s LT AubuiGrer smiE Qe TCragard <CarelCuasen
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50. The Great trigonometrical survey of India was Completed by

9 1870 (B) 1872
@ (C) 1875 (D) 1770
Biglw ble siereneu giapuier Caflw apaCament Hlav SiaTaney wpiyeybn <yar[H
(A) 1870 (B) 1872
© 1875 D) 1770
51. How many links in a chain?
100 (B) 150
(C) 200 D) 225
@ sméladluile) erisenan 60l G &6 2 areng)?
(A) 100 (B) 150
(C) 200 (D) 225
52.  Theodalite stone are in ————— Measurement.
A) CSM@®B JBY 90 cm x 22.5 cm x 22.5 cm
(C) Town Survey (D) WGS 84
Cararomenf] &pe&er ———— wjemelld @mEELD. '
(A)  ferev.ero. (19) . (B) 90 x 22.5 x 22.5 cm

(C) mayetenau (D) WGS 84

53.  Town Survey Blocks

w Close, Medium, Open (B) Tank, River, Rock Mark ,etc
(C) Dry, Wet, Poramboke (D) Field Measurement Book
bararTaneu L6 s @ &6 ———— eran SeLp&&LILIHILD.

&)  dpmssorer, pOssrorar Hppsdast  (B)  @end, <ym uteDs G Wsluen
©)  yepers, pEsas, UpCuThE (D) yeuur ysgan

54, In a right angle triangle the angle between opposite side and hypotenuse side is

J&~  Cosine (B) Sine
(C) Tangent (D) Cosigant
@@ emGaren waCaramgden, ardli UssD WHYL siarsHine @ Cuwrer Careauib
G0
(A) GQsrenser (B) ewaen
(C)  Lmemgern (D) Csréaseamr()
15 088/DD/18
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55. 100 Hectare is ——— Sq.Km

(A) 20km (B) 2sqkm

M 1sq.km (D) 0.5km
100 Qam&GL i uptiuere| Qarem g ——— sgiT HCar BLLT 2@ b.
(A) 20 &CGeom B (B) 2 AGer B
(C©)  1sgydGaom Bl (D) 0.5 &Gaom B

56.  While Surveying in D & O System the offset measurement should not exceeds

(A) 10 meter (B) 50 meter
427 100 meter (D) 150 meter

Q@ BLsms ppena el L b HMID Gsere] apenpuliler &TCeu el bCurg GoseTeurarg
& Bamoa @mes Ceua(hib.

(A) 108 ow (B) 508

(C) 100 S (D) 150 S

57.  The Survey and Boundaries Act should be followed in
(A)  Sub- division effecting patta field
(B)  Alteration of existing sub-division boundary
(C)  Area alteration effecting sub division
.,(,B)‘ Sub-division effecting promboke boundaries
Hlev Sjarenau HMHID Te@mEmaT GHEs FL b ———— GearuppluGEns.
A) vl fesdeo ydw o L G@fleysar Gawuyn Cung
B) gpsate Qelwiul L 2 Gflaysefid wrmsd QawuubGung
©) 2. 9Mey Qewib urliuerelles LrYFH CeliubGung
(D)  upwCursE eramauley 2 1 Gfleyser QguiwybCurg

58. Survey settlement Records will be done by

M Assistant Settlement officer (B) Assistant Director
(C)  Settlement officer (D) Settlement Commissioner
e jerenas paammisatan Bleefls S b ————— e QeuwiuBED S
A) 256 Hoaufs L a@mmr’r (B) 2 sef QuUEGHT
(©) Hleeufls Sl i@icue | (D) Aeoeufsd L ememrwiTert
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59. The Cost of demarcation should be collected from the

‘U!r Registered Holder of the field (B) Surveyor
. (C) Revenue Tahsildar (D) Assistant Director of Survey
& Slamwid wril bl @mbg eu@ed Gaiuiiu@ans
(A) udey Lewiul L Hle 2 Aepwwimert (B) =yemeur
©) emeumiaul Lm Swi (D) fle iemenen 2 g6l @uisEHT

60.  The competent authority of scrutinising of sub- division record in taluk office is

(A)  Senior Draughtsman (B) Maintenance Field Surveyor
M Deputy inspectbr of Survey (D) Tahsildar
alL Sgeuesuseie 2 9fe euammsmer amymie] Gaiub uamflss SAfeD UL
ST
A wpgfla euereurart (B) urmofliy Hlev emeur
(C) seweno Sereurm D) e Lm Awrr

61. If details marked iﬁ the maps disappears in the ground they
(A)  Should not be eliminated
(B) May be eliminated
(C) May be surveyed
ﬂ May be eliminated after getting approval from Tahsildar
aumruLgdle Ghlésuul Herer ellarsdwireng) Lbluller Geamea erammmed igmar
(A)  B&asb Qeliw Caameuufeene '
(B)  fssb Qaliwemd
(©)  Ber(id verey Qs Couam@id

(D) G)Jl:_!_rrL'_ﬁu_lrﬂl_Lﬁ]@‘_ﬁ;gj m&sryb Qubmn 9nE Bésib Qslwed

62.  Appeals against the 9(2) notice should be applied within

(A) 40 days _ (B) 50days
<21 90 days (D) 120 days
9(2) Cpmiies anite) Weis InE adsaman BT _sEns@er G wpapuih Qeiiw Ceuar( b
(A) 40 priser (B) 50 priaer
(C) 90 priger (D) 120 prser
17 088/DD/18
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63.

64.

65.

66.

67.

Finalization of a survey of a portion was noticed under section 13 in Gazette

,(Kf District Gazette (B) Taluk Gazette
(C) Tamilnadu Gazette (D) Central Govt. Gazette .
R0 uGSow blo Seremne Qswiub 13-eug) eflamburd ahps Sifflgle GeueluliuL. Ceuamm@ib.
(A)  vrel L ordsfa B) el ardsfeo
©)  50pp1H 2rflsfo D) wgsu sz
G.T. Station ———— in top of the place.
(A)  Hill top Tomb top 7" Building top Hill top
(C) Tomb top Building top (D) Hill top Electric top
Caélw Corent Blenawid (G.T. Station) —————— siepSHaHE!b.
A)  veoe 2 F8ule, sordl o F8ulld B) slysdlen 2 58ule, wene o FAulled
© swrd 25896, a1 LsHlen 2 &#lufe D) wereulen 2 58lule, WansibusSer o FAulld
The ———————is the point in the celestial sphere vertically above.the observer's position.
JA  Zenith (B) Terrestrial equator |
(C) Horizon (D) Celestial Sphere
sarfllueu Flenad@ CriCuwCe, euraflwd Garergdld (Celestial Sphere) = arar LarefGw
GremliL(HLD.
(A)  .eurayées yerafl (Zenith) B) ywsdHw Cyens (Terrestrial equator)
(C)  euren eflafliby (Horizon) (D)  euraflwe Caremd (Celestial Sphere)
The Horizon is plane cutting sphere at ——— from the Zenith.
(A) 45° (B) 60°
© 75 G 90
aungyée Laraflufledmhg ————— & araflwe Catargamg Aol Gdlamm CararGo eurayés Ljeraf
_eremu (. ;
(A) 45° (B) 60°
C . 175° _ (D) 90°
Taluk Stone Depot Register has been maintained in
& Form No. 1 (B) Form No. 7

(C) Form No. _6 (2) . (D) Form No. 6 (1)

alL  sgaossde urmoflssiu@n el so  @nmuul  udtal  @uiugeusHd
ugmofgsuuBdng ?

(A ugeud erewr, 1 B) ugeud eremr. 7

(©)  ugeud erewr. 6 (2) (D)  uigeub eremr. 6 (1)

088/DD/18 18



68.

69.

70.

Mean Time the average length of all the solar days of the year is taken and used as the
mean —— day.

.jﬂ') Solar (B) Energy

(C)  Electricity (D) Activity

Corgdlen symefl Crypd (Mean Time) g eumLsdledr 2 drar arever @Gflw prisaflen syred Herbd
THESUULD gl s7refl ——————— prer eran Lwearu(HSSLUGH ST,

(A4)  @flw (Solar) B)  pwe (Energy)

(C)  Blemgmyd (Electricity) - (D) Qswe (Activity)

The difference between apparent (sun) and mean time is called the

(A) Culmination 87 Equation of time

(C)  Primary Control Point (D) GCP (Ground Control Point)

&8 apad (@fwer) womb CwysHer agmedl Cord (Mean Time) @Geupmsdlen Cuiwiman’
NGELITFD —————— eranm yenp&aiLHSlermg).

A wsh (B) Gmysden synaf Cryb (Equation of time)

©C)  wsameaw s_Huur’(k yerafl (PCP) D) serss_Huur @ yerefl (GCP)

The entire is proved for accuracy for all area like village or town with reference to the

(A) GPS _ ] (B) SCP (Secondary Control Point)
& GCP : (D) PCP (Primary Control Point)
doro wppb perd Curapepdlar uribeaar ———— SUUMLWTSES QsTan® ieriiuder

epeuid glevedlwimnrs FRlumiés 1pguiw. :
4) @uw frewrwin Gleulu_tto wpap (GPS) B) @rarrd sC@uurl @ yerefl (SCP)

(C) sers s Huur @ yeref (GCP) (D) @serews st HULTC® yerefl (PCP)

The ———— is a Satellite navigation system that allows users to accurately determine
their location anywhere on Earth.

(A)  GIS System \JBr Global positioning system

(C) GTS System . (D) ETS System

erenig) QawhansCaner apatd @@mUub b @idluyb wpenoudlen ppeib 2 S eThHsbleur(m
QL sslemanuyb e Lwenmer gevalwiwns Qg Mbg Qararer 2 se Slma).
A)  f.am.erev. pavm (GIS) B) @rsdamar fiamlsgn apean (GPS)
(C)  g.erev aperp (GTS) (D) @yerev apenp (ETS)

19 088/DD/18
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72. GPS position of any piace, object or point can be represented by means of its
co-ordinates.

(A) Metrological (B) Historical

(C) Meridian J# Geographical ®
arpgbaur(m GL b, urmer g Yerafludén siemwail eflauriomarg, SieueilLgdler ——————— i
gnraseaan (co-ordinates) Qumrmiss) Ghlésiiu(dang).

(A)  jemeflwe (B)  eupermblwe

(C) Quwfguwer D) yeuldlwed

73. ' Offsets are

(A)  Chain linear out of alignment
- 87 Small measurement from chain line

(C) Measurement taken in chain surveying
(D) Chain distance
@'é,gmm (Offsets) eramugy
4) sl erellallphg el mLriLg
B) snda evawalelmBg crHEsULEHDL Al sjera,
(C)  smdlal wereneuuies erREsLILIEOID SjeTa
(D)‘ srdled jeme

74.  Which grid system is currently used in Tamil Nadu?

(A) WGSe66 (B) WGS 72
(C) WGS80 : <P WGS 84
s0Curg SOILHT 13e LweuBSsILED Grid System erg)?

(A) WGS 66 (B) WGS 72
(C) WGS 80 (D) WGS 84

75. What does a “benchmark a denote in surveying?
A To mark a known height level
(B) To mark the land boundary
(C) To Mark the progress of works
(D) To Mark the name of the landowner
o sereneuulien @Blndssse Hpliuibawors (benchmark) arans @HlGLemb
A) obs serefleonar o wir LLLSas GOLUDS
B) Aagder craenasaen @fliLms
©)  uefl erGardpseams GHLLMS
D) e e LamogmiaQuuflaer ghliuams
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76.

717.

78.

8.

80. .

How long does 1 em on a 1: 1000 map represent on ground?

A) 01m B) 1m
10 m (D) 100m
auenruLgde 1:1000 eren G ilsstufeudld 1 el eramug Hlaghd eeiauera) bergens @HléEng?
(A) 0.1.8 B) 148
(C) 1045 (D) 1005
The Stocks of the numbers of stones in balance and value of stones at cost price on the
months of every year.
(A) 31st March and 31t July (B) 31st March and 315t August
J&J 31 March and 30" September (D) 30t September and 30t November
geuQeumm eumLgHer ————— wrghsaild, masullmita Bauperer spsaflar eeamamilsams wHmD
sjeupdlen Garearapsa aflenauden i s Huieibenp GHlss meuss Ceuem(H .
(A) e 31 wHmb e 31 (B) wmi& 31 wpmib psen 51
(C) omi& 31 wHmb Gelwbur 30 (D) Qe ibui 30 wpmith peubur 30
is Account Officers register of bills received for collection
m Register A (Form XIV) (B) Register B (Form XV)
(C)  Register C (Form VIIIA) (D) Register D (Form VIIIB)
TEILF U eu@GasE@sEsTaT Lliqud @Nlss saedsamear Ufley Celwb saEE
sig@euafler UHCa [ GEb.
A)  udGeu® A (ugeud XIV) (B) uflCau® B (ugeud XV)
(C) uvdCau@ C (ugeud VIIIA) (D) wdCeau® D (Lgeud VIIIB)
The angle between the line and meridian is called
(A) Distance wB) Bearing
(C) Sums (D) Drientation
Ca_is HEib AuilywasEn @ tiul L Garemrmd ———— aaniu@ib.
(A gmo (B) Guflmi
©C) em@s® D) yAwearGLger (Drientation)
Surveying is also know as triangulation.

(A) Cadastral - - (B) Street
(C) Geo & Chain
———— jamaney, WECETETLIGEGS® (triangulation) eranayb SiewssiiLBEes).
(A)  sLTEVGT@ B) Qsm
C) yel (D) ardled
21 088/DD/18
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81. G.T.S Bench mark are establishment by

,ﬁ(f Survey of India (B) Public works department
(C) National highways (D) Chain Highways .
Cagélw Csrant Hleveowmiser (G.T.S) wryred ghu@ssiing L an?
A) @pdu fleo oermeis s (B) Qurgiliueflgsienp
©C) Gsélw ApHEremanas g (D)  wrfle ApHEssTmas samp
82.  All the new subdivision sanctioned by the Tahsildar should entered in
(A)  6(1) Register ; . (B) IR Register
U 8A Register (D) 5 Register
alLriflugmed @uussd SalsslulL Smeanssg) o LflaysEnn —— & @EAUGLiuL
Gauawr(HiLb.
A)  6(1) ufCau® B) - sefisens @iy LHGau®
(C) 8A ufCau® (D)  5gyib erewer LECeu(d

83.  The first stage in all land acquisition process is
(A)  The action post award passing
(B) Draft declaration

M Draft notification under section 4(1) of the Act
(D)  Under sec 6 of the act 5A enquiry under the Act

HleoGudly vefluller wpeaoBlame ——— oy @b

A  eurm® gindiusne whesw Leflser

B)  aerey QauaflulBige

©) fea@iyeld Gfey 4(1)er &P uamrey iflefiiemu Ceuefluil B zed
D)  fle @iy el Gfey 5(A)dr &

84.  The subdivision work in LA should commence only after the publication of

(A)  Notification under section 4(1)

\.@Br Notification under section 6(1)
(C)  Notification under section 5
(D)  Notification under section 9(1)

Wy&mb Qe GerarCr, Hlauw@ly vl 2 Gfley Asiigme opibiEs Cauam@ib.

(A)  9fey 4(1) -e E1p 2ifleflly AeualllI@ e
B)  Gfley 6(1)-en S1p ouflediiy QeuefluBsed
(C)  Gfley 5-ar Sip <iflefltiy Geuafud Bz
D) Gfley 9(1) -6 Sip enlediy Geuaflui B
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85.

86.

87.

88.

In Land Acquisition the permanent subdivision sketch are prepared for the purpose of
(A) Maintenance

@ B Incorporation of chances after award

(C) Award passing

(D)  Sub division

BoGuhudaturg frpsr 2. Gfley euamruLib swrit Qsawicuden Grrésin
A)  ugmoflyssrs “

B)  Quuse agind Qsiig e wrhprismer LHe QralasHETS

©) Quulse sigwd Aslauspsts

D) o Ay QsleugpsTs

In Land Acquisition, incorporation of changes in village and taluk records should be done
only after the inspection of
%~ Deputy Inspector of survey (B) Inspector of Survey
(C) Tahsildar (D) Assistant Director
PeoGw@ier Curg Sy, eul L peuamrmiigailay ghu@b DIMSDEEmET —————— 6 B UIey&HE LI
Wenart w_HGw Qauiiw CeuarHid. -
(A)  aulLg gemenr yuieumar (B) Heo siereneu gy uiaimeri
©) alum fur ' (D) 2560 QuaEmT
Hearing of original Land complaint is the main duty of
(A) Tahsildar \(‘Bf Inspector of Survey’
(C) Taluk Sub Inspector of Survey (D) Maintenance Firka Surveyor
Hlow Agriurer 2 amaowrer greurssamar eflamfliiug ———— e apédlwioren Ll wngLb.
A)  eulimAwr (B) Hle sjerencu gy Wwieumari
(©) el erit gueumert (D) upmofdiy Hle areur
Length of commonly used metric chains are

A) 10m B 20m

(€C) 30m D) 40m
Qurgieurs LweTU@RSSILED Aol Mé snidalulien Berd
A 108 B) 2048
(C) 308 (D) 408
23 088/DD/18
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89.

90.

91.

92.

93.

In a closed traverse of ‘N’ sides, the sum of internal angles should be

(A) 2n x 90° (B) - (2n+4) x 90°
7 (2n-4) x 90° (D) 2n
“N” vgsnismer CsTarmL ¢ (Pig-e DD g Treufeadle, 2 ereTaniohs Cararhisatiern snHiH
(A)  2nx90° (B) (2n+4) x 90°
(C)  (2n-4) x 90° - D) 2n
GCP for
(A)  Gross Count Points (B) Ground Continuous Parts
(C) Gross Contrass Power JB)' Ground Control Points
GCP eranugy ;
A) Qurss eramanisans LeTaflger (B) Mo Qsr_isd ugdadr
(C) GQuwrss erdlflen s&d) (D) Heass’ LU { Leraflaer
Revenue department is responsible for the detection of ————— in rural tracts.
qm Govt. Land Encroachment (B) Acquisition
"(C) Porombokes (D) Patta Tresspass
Srmw ugHule srariu@b ——— saTLfleugl aumeumls Fanmudern QUTmILIL @D,
A) s flo Y sfroarhiser (B) He SLsALILEET
© qubGunéi@a;Gh D)  ulor sdnsliyser
The softcopy Photogrammetry is often also called as —————— photogrammetry.
(A)  Scientific ' (B) Metrological
Y27 Digital (D) Delightful
g,nujmmwnm pa®  Cum CLrélyrQulf  eewg ————— Cu O 31 o (AT .
SlWssuBEng.
4) defwe yiraiomer . (B) Qul Grreorgléasd
©) gice : , (D) eufsywomen
CCC defines
(A)  Count and cancellation (B) Camera control certificate
(C) Camera card control .JB)' Camera calibration certificate
CCC eranugy
(A) seyar el CoergCasen (B) Gawiyr sar_Grme &g iGas
(C) Gswimsm(® sar_Grme (D) Gawyr srell AGyaen &g 9Ca
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94.

95.

96.

97.

10 means
M Interior Orientation (B) Inner object
‘C) Interior outstanding (D) Inward Iobject
IO erenuigen @uimmer
A) @erlefur pfluaCaen (B) @enanit o1&
©C) @emeflwi eyl cvoGL eimg i D) @eeuni(® < 'GRE
CCD denotes
(A) Camera control device ; v(!BT Charge coupled Device
(C) Change control demand (D) Changing control device
- CCD erevruigen edfleunéasid '
(A)  Cswrr sen Crme 4 eneuen (B) . &gl sl iganeuaiv
(©)  Goarg sam_Crme iomer (D) Coansdii s Crme enoush
NSDI defines
(A) Normal Solid Distance Inter
JBJ National Spatial Data Infrastructure
(C) National Sport Dimension Infrastructure
(D) National Sports Data Infrastructure
NSDI - e efifleungsio
(A)  prmoed smedll 1 el Lemen @em LT
(B)  Cpagere svCGuilwed Gt m Qe igrevl Qyser
(C) Cpagarer svGUTTL enLLoesae @emigiaul Qr&e
(D)  Gpagare evGurm CLLLr @erigrevlQr&sm
For Everest KEllipsoid values, the values from the Survey of India book cited in the

Bibliography may be led into the
(A)  Cadastral Survey (B) GPS

J#r Total Stations (D) Maintainance

ereuGpevl. eredlusmin’ wHIAHsrs psmy HIHOUCRLSD @Lb Qunn @pHu Heo aTma
Hpeasded Lss6586 mhe er@asiu®ib wHismer — & QsrRésmb.

(A)  sLmevL_ré sTGeu

(C) Cumlré ecvGrLgar (Total Station)

(B) (GPS) g)..9 660
D) uwrmofiy
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98.  The declination of hevenly body is the arc of a ——————— through the poles and the body
intercepted between the plane of the equator and the body

M Great circle (B) Square .

(C) Arc (D) Triangle

@@ erer Qummefler Declination eremugy, @LGur@enerb, FlopRsCsriye sasdamenb
Gfls@Lrm, SLGAurmer LHMI gimeursalen NG CFwgIh —————— SELW.

A Beu@Quflweul Lib « (B) &g

(C) efled '(D) p&GETamTD

99.  which of the following instrument can measure the depth of seabed?

(A) Theodolite | (B) Chain
w Echo sounder | _ (D) GPS

S UL ST s <ieTéEs 2 F6 b smell og)?

(A) Csramromenfl | (B) smdlel

© o Grfudiuren (D) .9.cra>

100. Quadrantal system confines the user to measure the bearing from
J# the north point clockwise
(B) the north point whichever is nearer
(C) the north point anti clockwise
(D) the south point whenever is nearer
BIHSTH Q,osmg)mu,iu vweru®sS, LwerrerT ——————aSl(Hg Cufi -B 2jeTés 2 s68n5).
A)  syery Hwsulier cuL&@ Leer
(B) s smerenouliiey o aTer auL & qsimﬂl
©) syaryeadlin Qm&uﬁ]s‘m cuL&@LILaTefl
D) s ymarewuia 2 drer QM Leraf
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